
2x－3y＝4

7x－6y＝5
①

15x＋8y＝－14

5x－3y＝－16
②

5x＋8y＝－25

2x－y＝11
③

2x－3y＝22
④

8x－2y＝－12

3x－4y＝－2

9x－10y＝10
⑤

2x－4y＝3

－5x＋8y＝－7
⑥

3x＋2y＝20

x＋y＝9
⑦

9x＋4y＝16
⑧

3x＋5y＝－13
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…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

…①

…②

①×２－②

4x－ 6y＝ 8

7x－ ＝ 56y－

－3x ＝ 3

x ＝ －1

x ＝－1を①に代入する

2x－ 3y＝ 4

2×－1 － 3y＝ 4

－2 － 3y＝ 4

－ 3y＝ 6

y＝－2

＝－1x y ＝ －2，

①－②×３

15x＋ 8y＝－14

－ ＝－489y15x－

17y ＝ 34

y ＝ 2

を②に代入するy＝ 2

5x－ 3y＝－16

3×2＝－16－5x

－5x 6＝－16

5x ＝－10

x ＝－2

＝－2x y ＝ 2，

①＋②×８

5x ＋ 8y ＝ －25

16x－ 8y ＝ 88＋

21x ＝ 63

＝ 3x

＝ 3x を②に代入すると

2x － y ＝ 11

2×3 － y ＝ 11

6 － y ＝ 11

y ＝ 5

y ＝－5

＝ 3x y ＝ －5，

①×4－②

8x － 12y＝ 88

8x － 2y ＝－12－

－ 10y＝ 100

y＝ －10

＝－10を①に代入するとy

2x－ 3y＝ 22

2x－3×－10＝ 22

2x＋30＝ 22

2x＝－8

x＝－4

＝－4x y ＝－10，

①×３－②

9x － 12y ＝ －6

9x － 10y ＝ 10－

2y－ ＝ －16

y ＝ 8

＝8を①に代入するとy

3x－ 4y＝－2

3x－ 4×8＝－2

3x－ 32＝－2

3x＝ 30

x＝ 10

＝ 10x y ＝ 8，

①×２＋②

4x － 8y＝ 6

－5x＋ ＝－78y＋

－x＝－1

x＝ 1

＝ 1x を①に代入すると

2x － 4y＝ 3

2×1－ 4y＝ 3

2－ 4y＝ 3

－ 4y＝ 1

＝y 4
1

－

＝ 1x y ＝， 4
1

－

①－②×２

3x＋ 2y＝ 20

2x＋ 2y＝ 18－

x ＝ 2

＝ 2x を②に代入すると

x ＋ y ＝ 9

2 ＋ y ＝ 9

y ＝ 7

＝ 2x y ＝ 7，

①－②×３

9x＋ 4y＝ 16

9x ＋ 15y ＝－39－

11y ＝－55

＝y －5

＝－5を①に代入するとy

9x＋ 4×－5 ＝ 16

9x－20 ＝ 16

9x ＝ 36

＝ 4x

＝ 4x y ＝ －5，

y )( x )( y )( x )(

y )(x )( y )( x )(

9x ＋ 4y ＝ 16

－


